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Note :
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Ote :

Qaretereyd. @FsiLedd Gopulmiden Simps samsreanillurerlLid
2 Iamquirsd CgfleflGseab.

Beoh  gowg smuy eovlma WLLEGCL TWSHMBHELD
9113.6CETgHeusHEh vwauBss CeuarH. UL BIS6T auenyeusn @
Cuendld LweTLBHHSeyLW.

Check the question paper for fairness of printing. If there is any lack of fairness,

inform the Hall Supervisor immediately.
Use Blue or Black ink to write and underline and pencil to draw diagrams

uES-1 (2.u9f-grauredusd), uGS-11 (2wl -allordud) saisseal alomLssrefle

eflen L weflgsayb.
Candidate should answer Part-I (Bio-Botany) & Part-1I (Bio-Zoology) in separate

answer books.

SIEDETSS HRTESEBESLD alen_wafl&EHayLD.

LES) - 1 (2-uIfl-greureSlued) / PART - I (BIO-BOTANY)

(éliClussrasn : 35) / (Marks : 35)
19f&y - 1 / SECTION - 1

8x1=8

Qsr@&sluLBerar Bre@ Lroo den_safle Wasad ghymLW
Qe ews CaibAs0Ss! GHWIHLer efen_ulenamiib Cargg) er(psad.

Answer all the questions.
Choose the most appropriate answer from the given four alternatives and write
the option code and the corresponding answer.
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1.

(é) Mﬁﬁ‘&n’ﬂ‘ @JG?D&;UU"-(B\

(<) Cauflw auesILTG

(«@) eremrentlied euamaLILIM(H

T &FM UMSUILTL(H Sjendlil] (PenD |

e . milarities among the immune system

The taxonomy which involves the similarities and dissi
of different taxa is termed as :

(a) Serotaxonomy
(b) Chemotaxonomy
(c) Numerical taxonomy

(d) Molecular Systematics

2. sflurs Qurmpdlueraranssd CaibEs@H.

(1) wealgs Aybi () =68flen B
2) wsasTEGFTer eTATOlawT (i) GAy
(3) U epenaser (i) <p&FHer A

(4) Gaprfld Ber alBa (iv) engenig.em
(1) (1) - (i), (2) - (@), (3) - (i), (4) - (iv)
(=) (@) - (), (2) - @iv), ) - (@), (4) - (i)
(&) @)- (@), (2) - (), 3) - (v), @) - ()
(FF) (1) - (@v), (2) - (i), (3) - (i), (4) - (iii)

Select the correctly matched one.

(1) Human Urine (i) Auxin-B .
(2) Corn gram oil (i) GA,

(3) Fungus (i) Auxin - A
(4) Herring fish sperm (iv) Kinetin

(@) (1) - (i), (2) - @), (3) - (i), (4) - (iv)
(b) (1) - (i), (2) - (iv), 3) - (), (4) - (ii)
(©) (1) - (i) (2) - (i), B) - (iv), @) - (i)
d) (1) - @@v), (2) - (@), (3) - (ii), (4) - (iii)
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QUEHS HTE HL_anL_ it Bpaptd @epmeurrer LGS Qaremg).

LITGUG) SIHETEEL ML <3|, ar(}) Wpeugib Gy Fymer sreblene o arer

@)L mseafle @g,wshgaﬁ]mgl,
(1) &apmI I seupreng) pamed snbyy 11 sfwirens
(<) @ran(® FnpPISEDHL Fhlureng
(@) b I sflureng pame sapm) 11 seuprans)
() @rev® SDOISEBID Feurag)

Statement I : Spring wood is darker in colour and has lower density.
Statement II Diffuse porous wood is formed where the climatic conditions are
uniform throughout the year.

(a) Statement I is wrong but Statement II is correct

(b) Both statements are correct

(c) Statement I is correct but Statement II is wrong

(d) Both statements are wrong

aumt’_san wpmd HfsHer @y s@er DNA sl U EHITETS).

(=) H (<) A
(

& B () C

Watson and Crick Model of DNA double helix is form.
(@ H (b) A
© B @ C

@@U&S&S @@mj&@m{[_ﬁg GUITGTU@GU BE‘IDGD!D o ) (‘JSWGWUU@éﬂﬂ)@

(,%T G&HEMALGL S
() Ned G

(1) grélem

(@) wosr

Bicollateral Vascular bundles are present in
(b) Cucurbitaceae

.

(@) Dracena
© Yucca (d) Lilliaceae
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erlffey sreurd @riflw Cabl s Sreuy spsdawd QararLgl ?
(<=21) HbCanrev@uibser (<=2b) QLACL el HaT

() <esACuravQUibsdr (¥ GeryCuuns.eouil_ser
Which of the plant group has gametophyte as a dominant phase ?

(@) Gymmnosperms (b)  Pteridophytes

(c) Angiosperms (d) Bryophytes

Bmusss i siewps m&wr@ﬂu.ub wEreféE @f ar@ssiEsT_(® -
(<=1) HlefQrm@Lgm e (<) < HAwibd

(&) QuyCabsev (FF) W GummnQuir
An example for Zygomorphic Cyathium inflorescence :

(a) Clerodendron (b) Ocimum

fy/vfedﬂanthus - (d) Euphorbia

Feumes seTldummer s erafld, seurs redlem L :
(1) 0.7 (@)

(&) 1.33 () 0

If respiratory substrate is protein, RQ (Respiratory Quotient) value is :

(a) 0.7 (g 00
© 133 @ o
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UGS - I (2 u8f-efleorudluied) / PART - 1T (BIO-ZOOLOGY)

(@ Letmsen : 35) / (Marks : 35)

Wfley - 1/ SECTION -1
@@ﬂq‘ ) Slemesg) elilemiéi(@mé @b eflenL_wieféHaqLb. 8x1=8

) Ga;[r@ému_uf‘@dm" Brew@ wrpm eNenLsafler Wleaybd ghymLw
QS]G&L@.M‘&’ SLREICEY GO e e wimeanyd Gsigs,
rpSa]Lo.

Note : (i)  Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives and write
the option code and the corresponding answer.

1. @réssdlen epad Berulraises Qsdgibd sTiue oL Spbmegan B :
(&) sriufGenm afGuomeCarmen (<) sriuTais eflen
(@) sriursdl adGorgGarmler () <ydad afCuor@Cermer
CO, is transported through blood to lungs as :
(a) Carbamino haemoglobin (b) Carbonic acid

() Carboxy haemoglobin (d) Oxyhaemoglobin

2. sauprer @enemreniid HeiTLDls.
M&Lﬁmﬂmwm - grirGsmllerraid
(=) Qged - gensulianip

(8) erawrGLmllerrs cuaneLIdeTama - grrsGamierrs cusmeol G eresicd
(") Qermevior Feue - ﬁ]uébrﬂ(r]embmrr
Zﬂ?c}ut the wrongly matched pair.

Cytoplasm - Sarcoplasm
9 o Myofibril
(c) Endoplasmic reticulum - Sarcoplasmic reticulum

(d) Plasma membrane - Neurilemma
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3.  Qués memprenhia@Endt @rés @l Gaustd L6
(=) Qrss pampretasailar QLTSS LIFUL HIGTSLO
el Quflwig). L, .
(<) auevg) Qeuan_Maflener olLs Geoppseare] QrHs @GusrﬂGqu,D,fD@m?E G]&rr?'m;
@Lg Qauent Nsder epaid AdLfs @rss HEmprabs@se Qrss
<jaflgsiubheusnre. '
(8) @rés prammsailan seul QewsEHE@GET 2,6 gean] pflommio
Queaalwgrs Gdeme. _ o
) \@Qrss mempreriisar @susms ol Gs serell@iugrd Qrds @0
Cogleurs paLCLnEDE.
Why is the velocity of blood flow the lowest in the capillaries ?
(@) The total surface area of the capillaries is larger than the total surface area of the
arterioles.
(b) The systemic capillaries are supplied by the left ventricle, which has a lower cardiac
output than the right ventricle. - ”
(c) The capillary walls are not thin enough to allow oxygen to exchange with the cells.

( Capillaries are far from the heart and blood flow slows as distance from the heart
increases.

b geopaig T 7
Heafien GorssL LLU

Sjereilhe

4. Spssameupidldr ganenns sedy B8 wwelar 2 emuyen Qg,nL_frqeﬁl_ug;J. 3ABS
&RENM| 6TE| ?
(1) BrOLS FIaTL @ L SsQI66T8 < dme Qeuafliur® <fshsse.
(<) Ug glawred eflenyeunsd &LSs L ILHID.
(&) Qewe Wananpssd sreased eyl sLssLIOADS.
(7) gremeflui sam < sevransaile) <y msmbGs @ Qealsmer FHUBSSHFleTma.
All of the following are associated with the myeline sheath except :
(a) Increased energy output for nerve impulse conduction
{b) Faster conduction of Nerve impulses

(c) Saltatory conduction of action potential
(d) Nodes of Ranvier forming gaps along the axon

. eflwrs Lur@ssiulHerer Qeaeanaw Gsiey QFs.
P () Qmeuens - Ceuetenar eflng Fré

(=) wlenwhuames - Qybor

(M@{GD&‘:J&;WU s - §lvséd)

() SOECHTH auans - Glevdammireyr

Choose the correctly matched pair.

(a) Dual purpose - White Plymouth rock

(b) Egg layers - Brahma
(c) Ornamental breeds - Silkie

(d) Broiler types - Leghorn
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§& SIreuLd’ eTenm ienpssiL@D @Qenemtiy Ha et ?
(S1) Aris GOt S (YGAGwreont Ha
(@) SjLTeuresn Frmeu & & (m/:gm_ﬂGurrdu Sa
which one of the connective tissue is aptly called ‘Tissue Fluid' ?
(a) Reticular Tissue (b) Areolar Tissue

© Dense Regular Tissue \/(ﬂj/-’ Adipose Tissue
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| 8427 §

Apfrs Dev@podsaid Bi Ber o HigaiudsasE esaibd anriGomear :

(s apemy LWl gé enmiGomen
() CaradlflavGLrensaflen
(@) urerd AGwiren &0 e

(7) 2E@ACUNGL_andlen 11

The hormone which helps in the reabsorption of water in kidney tubules is :

() Antidiuretic hormone
(b) Cholecystokinin
¢) Pancreozymin

(
(d) Angiotensin II

Spss@T_eupmIeT LTI igsafled) sramLLILTS LiGRTL) 6Tl ?.
(e il é ereiby (<) E&CsTran LDSET

(@) QulLr@psLflé Apfran () urd srondser

Which one of the following characteristic feature is not found in Mammals ?

(@) Pneumatic bones (b) Thecodont teeth
(©) Metanephric kidney (d) Mammary glands

9y - 2/ SECTION -2

Answer any four questions.

Apdlens Gam LM _igd Friae LmireQefer LIki@ wrgl ?

What is the role of Charles Darwin in relation to concept of species ?

iy Sensaflen CoEIDd BTET ‘
List any two features that characterise bony fishes.
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